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Foy = Fay = Fy =0.875kN, Fyy = Fo =1I25kN, F,, =9.875kN,

Ny = (Fyy = Fiy )-0,707 = —=0,177kN, Qy = —(Fyyy + Fyy )-0,707 = 1,414 kN,
M,),=-2,625kN-m, (M) =-10 kN-m,

(MD) (My), +(My), =-12,625kN-m , My =-14,375kN-m,

—_~

=0, M, =M, =0, (M,) ==3kN-m, (M,) = (M,) +# =3kN-m,
X, =0,5625m, M, (x, ) = 0,3164 kN-m.
Fyy = —Fyy =2kN, Fyy =—Fyy =15kN, M, = M, = M. =0, M, =—6kN-m,
My =6kN-m, (M), ==6kN-m, (M) = (M), +# =12kN-m.

Foy="2qr,F\y=qr,M, :—%qrz, N, =0, N.=—qr, N, =0, Ny =¢qr

Ny=-2qr, 0,=0,0.=0,0.=0, Oy =qr, O, =-2qr, O, =—qr,
3
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F=0,15kN, F,, =0,34kN, F, = 1,05kKN, F,;, =2,05kN,

F,, =L39kN, F, =0,34kN, F, =0,37kN, F, =2,48 kN, F,=1L11kN,
M,=My,=M.=0, M, =—1,577 kN-m, M, = 0978 kN-m, M, =1,05kN-m,
M, =-2,088 kN-m, N(¢)=-0,15-cosp+0,34-sin¢p, kN,
O(p)=0,15-sinp+0,34-cosp, kN,

M, (p)=0,68-sinp—0,298-cosp+0,298, kN-m.

PROSTORNI NOSACI

=—-8kN,F,, =6kN,F, =-2,5kN, M, =100kN-cm, M,, =250kN-cm,
A =600kN-cm, M, =0, M, =-100kN-cm, M, =0,
M,=0, Mo, =My,=0, M., =My, =100kN-cm, T, = M ; =-100kN-cm,
My, =0,My.;=0.
F, =-6kN,F, =4kN,F, =-35kN, M, =-20kN-cm, M, =437,5kN-cm,
M,, =500kN-cm. M, =0, ;=M ;=20kN-cm, My ;=0, M, =0,
My, =-120kN-cm, M}, = M, =0, M., =-260kN-cm, M, =0,
M, =-260kN-cm, My, =-20kN-cm, M, = My, =0.
F,,=20kN,F, =4kN,F, =0, M, =-140kN-cm, M,, =280kN-cm,
M,. =300kN-cm, M, =M, =0, M., =200kN-cm, T2 =M, =200kN-cm,
My, =-280kN-cm, My, =-140kN-cm, 7; = M ; =140kN-cm,
M ,; =-280kN-cm, My, =200kN-cm.



